
 
Find a closed form: 

𝛀 = ∫ ∫ 𝐭𝐚𝐧𝐡−𝟏 (
𝒙

𝒚
+

𝒚

𝒙
) 𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

 

 
Proposed by Ankush Kumar Parcha-India 

Solution 1 by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ ∫ 𝐭𝐚𝐧𝐡−𝟏 (
𝒙

𝒚
+

𝒚

𝒙
)𝒅𝒙𝒅𝒚

𝟏

𝟎

𝟏

𝟎

; 𝑰𝑩𝑷 →
𝒖 = 𝐭𝐚𝐧𝐡−𝟏 (

𝒙

𝒚
+

𝒚

𝒙
) ,   𝒅𝒖 =

𝒚(𝒚𝟐 − 𝒙𝟐)𝒅𝒙

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝒗 = ∫𝒅𝒙 = 𝒙

 

𝜴 = ∫ ([𝐭𝐚𝐧𝐡−𝟏 (
𝒙

𝒚
+

𝒚

𝒙
)𝒙]𝟎

𝟏 − ∫
𝒙𝒚(𝒚𝟐 − 𝒙𝟐)

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

)𝒅𝒚 = 

𝜴 = ∫ 𝐭𝐚𝐧𝐡−𝟏 (
𝟏

𝒚
+ 𝒚)𝒅𝒚

𝟏

𝟎

− ∫ ∫
𝒙𝒚(𝒚𝟐 − 𝒙𝟐)

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝜴𝟏 − 𝜴𝟐 

𝜴𝟏 = ∫ 𝐭𝐚𝐧𝐡−𝟏 (𝒚 +
𝟏

𝒚
)𝒅𝒚

𝟏

𝟎

, 𝑰𝑩𝑷 →  
𝒖 = 𝐭𝐚𝐧𝐡−𝟏 (𝒚 +

𝟏

𝒚
) ,   𝒅𝒖 =

(𝟏 − 𝒚𝟐)

𝟏 + 𝒚𝟐 + 𝒚𝟒
𝒅𝒚

𝒗 = ∫𝒅𝒚 = 𝒚

 

𝜴𝟏 = [𝐭𝐚𝐧𝐡−𝟏 (𝒚 +
𝟏

𝒚
)𝒚]𝟎

𝟏 − ∫
𝒚(𝟏 − 𝒚𝟐)

𝟏 + 𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝒅𝒚 = 𝐭𝐚𝐧𝐡−𝟏(𝟐) − ∫
𝒚 − 𝟐𝒚𝟑 + 𝒚𝟓

𝟏 − 𝒚𝟔

𝟏

𝟎

𝒅𝒚 = 

= 𝐭𝐚𝐧𝐡−𝟏(𝟐) − ∑ ∫ 𝒚𝟔𝒏+𝟏 − 𝟐𝒚𝟔𝒏+𝟑 + 𝒚𝟔𝒏+𝟓𝒅𝒚 =
𝟏

𝟐
𝐥𝐧 (

𝟏 + 𝟐

𝟏 − 𝟐
)

𝟏

𝟎

∞

𝒏=𝟎

− 

− ∑ (
𝟏

𝟔𝒏 + 𝟐
−

𝟐

𝟔𝒏 + 𝟒
+

𝟏

𝟔𝒏 + 𝟔
)

∞

𝒏=𝟎

=
𝟏

𝟐
𝐥𝐧(𝟑) −

𝒊𝝅

𝟐
−

𝟏

𝟐
∑

𝟏

(𝟑𝒏 + 𝟏)(𝟑𝒏 + 𝟐)

∞

𝒏=𝟎

+ 

+
𝟏

𝟔
∑

𝟏

(𝒏 + 𝟏)(𝟑𝒏 + 𝟐)

∞

𝒏=𝟎

=
𝟏

𝟐
𝐥𝐧(𝟑) −

𝒊𝝅

𝟐
−

𝟏

𝟔
(𝝍(𝟎) (𝟏 −

𝟏

𝟑
) − 𝝍(𝟎) (

𝟏

𝟑
)) + 

+
𝟏

𝟔
(𝝍(𝟎)(𝟏) − 𝝍(𝟎) (

𝟐

𝟑
)) =

𝟏

𝟐
𝐥𝐧(𝟑) −

𝒊𝝅

𝟐
−

𝝅

𝟔√𝟑
+

𝐥𝐧(𝟑)

𝟒
−

𝝅

𝟏𝟐√𝟑
= 

=
𝟑 𝐥𝐧(𝟑)

𝟒
−

𝝅

𝟒√𝟑
−

𝒊𝝅

𝟐
= −

𝝅√𝟑

𝟏𝟐
+

𝟑 𝐥𝐧(𝟑)

𝟒
−

𝒊𝝅

𝟐
 

𝜴𝟐 = ∫ ∫
𝒙𝒚(𝒚𝟐 − 𝒙𝟐)

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 

= ∫ ∫
𝒙𝒚𝟑

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 − ∫ ∫
𝒙𝟑𝒚

𝒙𝟒 + 𝒙𝟐𝒚𝟐 + 𝒚𝟒

𝟏

𝟎

𝟏

𝟎

𝒅𝒙𝒅𝒚 = 𝟎 {𝒔𝒚𝒎𝒎𝒆𝒕𝒓𝒚} 

∫ ∫ 𝐭𝐚𝐧𝐡−𝟏 (
𝒙

𝒚
+

𝒚

𝒙
)𝒅𝒙𝒅𝒚 = 𝜴𝟏 − 𝜴𝟐 = −

𝝅√𝟑

𝟏𝟐
+

𝟑𝐥𝐧(𝟑)

𝟒
−

𝒊𝝅

𝟐

𝟏

𝟎

𝟏

𝟎

 



 
Solution 2 by Togrul Ehmedov-Azerbaijan 

𝐈 = ∫∫ 𝐭𝐚𝐧𝐡−𝟏 (
𝐱

𝐲
+

𝐲

𝐱
)

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲]

𝐲

𝐱
=𝐦

= ∫𝐱 ∫𝐭𝐚𝐧𝐡−𝟏 (𝐦 +
𝟏

𝐦
)

𝟏

𝐱

𝟎

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
 

𝐈𝐁𝐏

=

𝐱𝟐

𝟐
∫𝐭𝐚𝐧𝐡−𝟏 (𝐦 +

𝟏

𝐦
)

𝟏

𝐱

𝟎

𝐝𝐦

]
 
 
 
 

𝐱=𝟎

𝐱=𝟏

+
𝟏

𝟐
∫ 𝐭𝐚𝐧𝐡−𝟏 (𝐱 +

𝟏

𝐱
)

𝟏

𝟎

𝐝𝐱 =
𝟏

𝟐
∫ 𝐭𝐚𝐧𝐡−𝟏 (𝐦 +

𝟏

𝐦
)

𝟏

𝟎

𝐝𝐦 + 

+
𝟏

𝟐
∫𝐭𝐚𝐧𝐡−𝟏 (𝐱 +

𝟏

𝐱
)

𝟏

𝟎

𝐝𝐱 = ∫𝐭𝐚𝐧𝐡−𝟏 (𝐱 +
𝟏

𝐱
)

𝟏

𝟎

𝐝𝐱 

𝐭𝐚𝐧𝐡−𝟏 (𝐱 +
𝟏

𝐱
) = 𝐳 ⇒ 𝐭𝐚𝐧𝐡 (𝐭𝐚𝐧𝐡−𝟏 (𝐱 +

𝟏

𝐱
)) = 𝐭𝐚𝐧𝐡(𝐳) ⇒ 𝐱 +

𝟏

𝐱
= 𝐭𝐚𝐧𝐡(𝐳) ⇒ 𝐱 +

𝟏

𝐱

=
𝐞𝟐𝐳 − 𝟏

𝐞𝟐𝐳 + 𝟏
⇒ 𝐞𝟐𝐳 =

𝐱𝟐 + 𝐱 + 𝟏

𝐱 − 𝟏 − 𝐱𝟐
⇒ 𝐥𝐨𝐠(𝐞𝟐𝐳) = 𝐥𝐨𝐠 (

𝐱𝟐 + 𝐱 + 𝟏

𝐱 − 𝟏 − 𝐱𝟐
) ⇒ 𝐳

=
𝟏

𝟐
𝐥𝐨𝐠 (

𝐱𝟐 + 𝐱 + 𝟏

𝐱 − 𝟏 − 𝐱𝟐
) 

𝐭𝐚𝐧𝐡−𝟏 (𝐱 +
𝟏

𝐱
) =

𝟏

𝟐
𝐥𝐨𝐠 (

𝐱𝟐 + 𝐱 + 𝟏

𝐱 − 𝟏 − 𝐱𝟐
) 

𝐈 =
𝟏

𝟐
∫ 𝐥𝐨𝐠(

𝐱𝟐 + 𝐱 + 𝟏

𝐱 − 𝟏 − 𝐱𝟐
)

𝟏

𝟎

𝐝𝐱 =
𝟏

𝟐
{∫ 𝐥𝐨𝐠(𝐱𝟐 + 𝐱 + 𝟏)

𝟏

𝟎

𝐝𝐱 − ∫𝐥𝐨𝐠(𝐱 − 𝟏 − 𝐱𝟐)

𝟏

𝟎

𝐝𝐱}

=
𝟏

𝟐
{(

𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟐 +

𝛑

𝟐√𝟑
) − (𝐢𝛑 − 𝟐 +

𝛑

√𝟑
)} = −

𝛑√𝟑

𝟏𝟐
+

𝟑

𝟒
𝐥𝐨𝐠(𝟑) −

𝐢𝛑

𝟐
 

 

 

 


